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=%k [_JL68s 100 | 12% 900 | 24% - FELE 29% 43% | F:26.000. X:25.
[Jr6e90 100 |_12% 900 | _24% | ¥:35.200. H:35.200 3ER 29% | +:33.100. H:33.100 A% :24.100. 7K:24.100. A:25.600. %:25.200.
[JL692 100 | 12% 900 | _24% FELT 29% 4% 24.100. 7K:24.100. %:25.200. %:25.200
[JL694 100 | 12% 900 | _24% | H1:35.200 EI=L] 29% |8:33.100 43% | F:25600. /K:24.100. 5:26.400
[JL696 100 | 12% 900 | 24% | B:34.900 FELT 29% [H:33.100 42% | 7k:25.200. :25.200. $:25200. H:26.000
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2868 16% | H:15.000. F:15.000. H:18.00( WH [ 21,000 | 16% =Ll 50%
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[[JL27as 16.800, F:16,800 EilE] 15% | £:16,000, H:16,000 B 50%
(2749 £.16.800. F16.800 Lil:] 15% [£:16.000. H:16.000 B 50%
[CJL2753 EilE] 15% B 50%
2755 WiE 15% B 50%
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JL503 25,200 5
JL505 25,200 5
JL507 28,500 3 N
JL509 28500 | 30% 7400, 28,600, 230,300, 30,300, H16.30(
JL511 28200 | 31% 7,100, £:30.300, £:30,300. H:23,800
JL513 25900 | 36% £:27.800, £:00.300. H75.101
JL515 24,700 | 39%
JL517 23,200 3
JL519 23,200 3
JL521 25,600 7
JL523 25,600 7
JL525 25,600 7
JL527 27,000 3
JL529 16.300 0%
JL531 13300 | 67%
ALAR (B F i) | JL500 26,800 34%
JL502 28600 | 30%
JL504 26,700
JL506 26,700
JL508 23,200
JL510 23,200
JL512 24700 | 39% |
JL514 26,500 | _35%
JL516 7.300
JL518 7.300
JL520 7.300
JL522 7.400
JL524 7.300
JL526 25,600
JL528 300 | 65% .
JL530 300 | 67% 300, B:14.300
RECRE) =18/ FR(FE) % [_J1303 100 66% 100, 118500
JL305 6!
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JL309
JL311
JL313
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JL317
JL319
JL321
JL323
JL325
JL327 B
JL329 B
JL331 B
JL333 B
JL335 B
BER JL300 B
JL302 B
JL304 B
JL306 B
JL308 B
JL310 B
JL312 B
JL314 B
JL316 B
JL318 B
JL320 B
JL322 B
JL324 B
JL326 B
JL328 B
JL330 B
JL332 B
RERCRE) =44 (H) | FRCAE)EK |_JL01 E]
JL903 B
JL905 B
JL907 B
JL909 B 17.7
JL913 B 7.
JL915 B 7.
JL917 B 7.
JL919 B 7.
JL921 B 7.
JL923 B 7.
JL925 B . 7.
SRR (FRER) & | JL900 B .100 3%
JL902 B 100 | 63%
JL904 B 400 5%
JL906 B 900 | 74%
JL908 B 500 | 60%
JL910 B 25,900 7
JL912 B 25,900
JL914 B 25,900
JL916 B 28,600
JL918 B 28,600
JL920 B .900
JL922 B .900
HECRE) =R HRECHAE)H |_JL551 B .900
JL553 B 700
JL555 B 100 | 62
JL557 B 800 | 60 . £:17.900. A:20.40
JENIES JL552 B ,000 60%
JL554 B 900 | 62%
JL556 B 6.400 | 65%
JL558 B 6.400 | 65%
RECRE)=ER R (FE)F | JLeal B 20400 57
JL643 B 400
JL645 .900
JL647 1400
JL649 1400
JL651 .000
JL653 1400 4
JL655 1400 4
ERER JL640 20,400 7
JL642 1400
JL644 1400 E
JL646 1400 E
JL648 1400 Ik
JL650 1400 Ik
JL652 900 | 53% |k
JL654 20,900 | _56% | 7K:19.500. B:23.400
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:20.300. %:20.300
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100 £:8500. H:8.500
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100 4:13.200. 1:8.500. H:8.500
100 [£:13.300. £:8.500. H:8.500
ALIR (L 3%) =8I HIR(ER) R 450 50%
[ L2863 450 | 50%
[ L2865 450 | 50% |
12869 450 | 50% |+:9000
figs [ JL2860 450 | 50% [5:9.000
[ L2862 450 | 50% | H:9.000
[ L2864 450 | 50% | H:9.000
12868 450 | 50% | 49,000, £:9.000
ALIR (B 2%) =BRE FLIR (R BR) 5| JL2T: 150 50%
L27: 150 | 50%
L27: 150 | 50%
L27: 150 | 50%
L2 150 | 50%
L2755 150 | 50%
R 12740 150 | 50%
12742 150 | 50%
L2746 150 | 50%
[ L2728 150 | 50%
(L2752 150 | 50%
12754 150 | 50%
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